201EE =2 13 LPaX SoHS ~ &0IS
2N EHS
o SolS SEuZLY
SRl e MBEY X4 (Sl #)
SH-EH . C(BH) - NRAY - BES O AF o8 [ =)e bRz
L 1,325,135 1,315,667 9,468
SiiS sEumeY 617,700 611,700 6,000
WG MBHY T4 142,034 136,034 6,000
MEBBIY 129,418 123,418 6,000
201 Y2 25,900 19,900 6,000
2 ZZ2YH| 2,000 6,000 6,000
O1. 2222 YLHA 2,000 6,000 6,000
SEHAIE ZEHFA ®II23
2 200,000 *122 2,400 1,200 1,200
-REA0IHASH BEHTA [
200, 00021 * 122 2,400 0 2,400
~REA0IHASH BEAFA MLCASE
200, 00021 * 122 2,400 0 2,400
HH2HF(ZHS) 496,355 492,887 3,468
ol ey (EHE) 60,207 58,739 1,468
SRR 60,207 58,739 1,468
101 2121t 60,207 58,739 1,468
03 RINHA2E X4 60,207 58,739 1,468
OF A2l 21y 21,747 20,885 862
“H2LY 10,339, 0002+ 1% +1/12+50%23] 862 0 862
O=XSdE 222y 38,460 37,854 606
~H324Y 0,081,000 %23 +1/12+20%23] 606 0 606
=2 ZH(ZHS) 436,148 434,148 2,000
Aot o 2EFHSY 38,500 36,500 2,000
405 THAHE St 38,500 36,500 2,000
01 RALSEHSH| 38,500 36,500 2,000
OSHATIHE A 2,000,00021 *14} 2,000 0 2,000
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S Hotsl
Ha: Moo ZHUHLSY

el ZE0IGHE BHED (S92
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 J1E o B2

& 5} o 581, 130 556,488 24,642

Mol SsEYISY 235,205 214,245 20,960

Z=olsts HYED 154,144 133, 184 20,960

z8 #y2Y 37,340 16,380 20,960

201 Ygreg| 11,940 10,980 960

01 Attt 11,940 10,980 960

O1.2er2gH| 960 0 960

-2lg 2ADRE P 480,0002! 274 960 0 960

401 AEHI2L S0 20,000 0 20,000

01 Al&| 20,000 0 20,000

OB B4 BA 20,000,000 %14} 20,000 0 20,000

N2 A (2501 215,205 211,523 3,682

ozt 2 | (X518 20,701 20,019 682

R REELT] 20,701 20,019 682

101 Q1248 20,701 20,019 682

03 RIHAD2RE S 20,701 20,019 682

O=Xs2 2elosy 20,701 20,019 682

~HISY 9,081,0008 %12 *1/12x45%x23)] 682 0 682

o= A (25He1) 194,504 191,504 3,000

Mok 2 2EHSY 7,500 4,500 3,000

405 X+arE S| 7,500 4,500 3,000

01 XYL SEFH S| 7,500 4,500 3,000

Ofl® SHE oK L =X 7Y 3,000,0008 3,000 0 3,000




S St
HH: et SHAFLY

CHol: Z0ISHE HIHCD SR
K- B2 SR(BIH) - HRAY - Be S Aol plE<L 2

&ect 551,587 541,100 10,487

EctH SEUE=Y 205,357 195,357 10,000

=0sgy #EER 132,245 122,245 10,000

SE HE2S 45,862 35,862 10,000

401 Al&HIZL=ROHYI 30,000 20,000 10,000

01 Al&HI 30,000 20,000 10,000

OFA 24 SLBA 10,000, 00024141 10,000 0 10,000

HY AP (SatH) 215,510 215,023 487

olA2HH|(SetH) 39,626 39,139 487

FAMIE2E| 39,626 39,139 487

101 Q14| 39,626 39,139 487

03 RIIHAZZXNE = 39,626 39,139 487

OF Azl Ry 20,940 20,681 259

-H32=F 10,339,000 * 1 x1/12%15%*23] 259 0 259

ogosXg 2 2elfl 18,686 18,458 228

-d2+=E 9,081,000 x 1 »1/12x15%*23] 228 0 228




S IIHe
M Do X =N ALY
SRl KIS FLISERALY (25 &2

T e/

SNBSS - MBAY - BES 01l &4 24 pJE-T {imE=Eh
JIHSH 575,937 560,634 15,303
JIAH KIS IHE A 145,720 130,720 15,000
KA F0 =AY 145,720 130,720 15,000
22X S ARSI N 95,720 80,720 15,000
401 Al&HIZL=ROHYI 95,720 80,720 15,000
01 Al&HI 95,000 80,000 15,000

OFA =4 & AlE HEISA

15,000,000& » 14! 15,000 0 15,000
HE2AZUI(JIHH) 208,286 207,983 303
ol HHI(JIHH) 19,486 19,183 303
FAHHAZ2E 19,486 19,183 303
101 el H] 19,486 19,183 303
03 RIHA2ZZNE 19,486 19,183 303
OJIAZE2 & 2222 Y 303 0 303
-d32=4 9,081,000 x1H *1/12%20%+*23] 303 0 303




SN EED
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SE BRI 1) e
SH-EH . S2(30) - MRAY - BES

=50 612,705 303
HY2AHH(ZEHH) 218,857 303
IA2HH(ZEH) 18,516 303
FANIE2EH| 18,516 303
101 Q1 Z4H| 18,516 303
03 RIIHA%2Z 18,516 303
O=xs2 8,516 303
-H32=F 9,081,000% x 12 x1/12x20%*23] 0 303
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SN 2ES
M WE2AZHI(2EE)
cHol: oli2 (B2 E)
SA B G(E) - NEAY - B 0] & 08 plE=L
Z2ES 431,830 428,620
HE2IHHI(BES) 135,389 132,179
OIH2HH(BES) 18,873 18,163
FAME2EH 18,873 18,163
101 Q1 Z4H| 18,873 18,163
03 RIIHAZZXNE = 18,873 18,163
O=Xz2 2elelfy 18,873 18,163
—AXt=E ZE 29,010&«1H 17 494 436
-H324 9,081,000% x 12 »1/12%20%*23] 303 0
203 29,0103 »22 «12& +50% 349 0
Jl2ZH(8ES) 116,516 114,016
N ] 17,500 15,000
405 AHeHESHI 17,500 15,000
01 XYL S SFSHI 17,500 15,000
OolEs WHe)| 2¢ 2,500,000& = 1CH 2,500 0
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SN

= L

el FOISH BHED SRESE
M« B2 - S2(3H) - MRAY - BaS p/E-T" 2

20 336,381 296,965 39,416

s SEHE=Y 203,328 165,992 37,336

ofe HEER 140,099 102,763 37,336

A=2=2d 57,939 20,603 37,336

101 Q1 Z4H| 16,469 9,803 6,666

04 JIZHNIZE2XESE = 16,469 9,803 6,666

OgsE M 2elelg 35,290 x1H+170 6,000 0 6,000

O4UEE JI22E3 6,000,000 *11. 1% 666 0 666

201 Let2d| 14,450 4,680 9,770

01 AtE22lHl 10,200 1,200 9,000

O1.d8t=Z | 10,200 1,200 9,000

—SsENE Let=EH| 1,000,000& 1,000 0 1,000

-23tdEH 2Et+=Z4| 1,000,000& 1,000 0 1,000

-2ty A 2 2,000,000& 2,000 0 2,000

-23tdlE Setele 2 5,000, 000& 5,000 0 5,000

02 =234l 4,250 3,480 770

O1.2E323ZHAl 4,250 3,480 770

—ESSE N2 Holes 50,0002 «8& 400 0 400

-ESE AN QIEHY 0I2R=  40,000&+83 320 0 320

-2stdlE SFMNERES 50,000& *13] 50 0 50

405 XtobE SHI 25,900 5,000 20,900

01 T =S FH SHI 20,900 0 20,900

O2stdy HIZ & 20,900 0 20,900

-S & 5,000, 000& =14 5,000 0 5,000

Rl 350,000 »2CH 700 0 700

—H A 250,000 «22H 5,500 0 5,500

-o| Xt 70,000% 1004 7,000 0 7,000

-IHHI 250, 0003 204 500 0 500

-2/2/= HIOI=S 250,000& 24 500 0 500

-22= Xt 100, 000& * 124 1,200 0 1,200

-2 500,000 = 1CH 500 0 500

HHY2AHHI (B0HS) 67,053 64,973 2,080

23U (8Hs) 67,053 64,973 2,080

R0 30, 160 28,080 2,080

202 O4Hl 30, 160 28,080 2,080

02 EAHNYI 30,160 28,080 2,080

O AN (9E—~10Y) Z & 30,160,000& 30,160 28,080 2,080
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